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* 13t dAee (1 eV) = 1.602 x 10-19 ST

® The electron-volt (eV) is a unit of energy

commonly used in atomic and nuclear physics.
One electron volt is equal to the energy present in
an electron or a charged particle with unit charge.

®* 1 electron volt (1 eV) =1.602 x 10-19 joules
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* Fundamental quantities or basic quantities are
those, which cannot be defined in two terms of
other quantities, such as length, mass and
time. Mass is a physical quantity because it
can be expressed in terms by the laws of
physics. Mass is a scalar quantity because it
has only magnitude.
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* 20°C W foRHT I o T TS 4°C W AA o G ok

JTUTA ohl TG T ATUATLTR T had ol
* AT Teal = 20°C WX TE T T/

4°C Q¥ A ohl Ydcd

® The ratio of the density of an object at 20°C to the
density of water at 4°C is called relative density of
the object.

* Relative density = Density of the object at 20°C/

Density of water at 4°C
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® The main component of human bone is calcium, which
is a mineral helpful in providing structure and strength
of bones. A salt called calcium phosphate is found in
the highest amount in human bones.
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* Anthracite is the hardest, brightest and best form of
coal. It has a carbon content of 90-95%. 55-80%
carbon is found in bituminous, 40-55% in lignite and
less than 40% in peat coal.
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® Iron is an essential element for the formation of both
hemoglobin and myoglobin. The function of
hemoglobin is to transport oxygen in the blood,
whereas the function of myoglobin is to store oxygen.
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® Niacin is also called vitamin B3. Its deficiency causes a
disease called pellagra. In this disease, there is a
disturbance in the metabolism of proteins in the body.
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®* Quartz is a widely found mineral on Earth, the

main component of which is silicon dioxide (SiO2).
Properly cut plates of quartz are wused for
frequency control in radio, television and other
electronic communication equipment, and in

crystal-controlled clocks.
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® The pituitary system is a small gland located at the
base of the brain, which controls other endocrine

glands. That's why it is also called the master
gland.
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® Scurvy is caused due to deficiency of Vitamin C'.
Vitamin 'C' is mostly found in citrus fruits. The
main symptoms of this disease are swelling in the
gums, loss of teeth and yellowing of the face of
the patient. The chemical name of vitamin 'C' is
ascorbic acid.
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* I (frequency) T TH. ATg. (S.I) ATHA® FeT
(Heartz) ZTaT 2| U= o Tl ST ZRT T U /
Tehe T TR ST ST 1 T oh SRTER ST 2

® S.I. unit of frequency is Hertz. When a vibrating

object makes one vibration/ second, its frequency is
equal to 1 Hz.
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®* Saffron is a spice derived from the

flower of Crocus sativus, commonly
known as the “saffron crocus”. It is
mainly grown in cold regions. Saffron’ is
obtained from the stigma of the plant.
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* TUT T2 & TG ATIRAH FrAT JAT B, AT HATAYTE HTa

ST TSI TS AT BN E AT 9.1 it uh
TTH SSAT ST ST g

* Fat gives maximum energy after breaking down, fat is
composed of essential carbon and hydrogen atoms
releasing 9.1 calories per gram of energy.



